20060 NLO 17601 700
0 020060110 22

gooOoOooOoooooooooo
IPSJ SIG Technical Report

OO00oo000ooooooooobooononoon
00 0O0+000 OO0 4§

1000000000 oobOoobooobon
1000000ooobooooon
SATROO0ODOO0O0ODOO0DOODOODODO
E-mail: {{kenji-fu, kashioka}@Qis.naist.jp

goo,0o0ooooobooooooooooboobo, bbb booobooobooobboo.ooo
gbooobOoboooboooooboooooboooo,0o0o0oboooobooobooboo.oboobooogoon
gboooooboooboooo.cobo,0oboooobooooboobooboooooboooboobooooOon
go,0o0ooooooooooboooooboooobobooobooogo,o,oboboooboooboo,obobgoD
gboboobooboooobooobooboboooooooooobooooooobo,boobbooobooboOoooboooon
gbooo.oboobooobooboobooboobooobo,00booobo0obooobooboooobooobooboooan
gbooooOobooobooobooooo.oboobooboooo,ob0oobooboboooboboobooobooooon
goooooooobooooboooooooooooo.

Building A Thesaurus Based on Example-Based Machine Translation for
Selecting A Translation Pair from Example Data Base

Kenji Fukuit O Hideki Kashiokafi§

tGraduate School of Information Science, Nara Institute of Science and Technology
TNational Institute of Information and Communications Technology
§ATR Spoken Language Communication Research Laboratories
E-mail: {{kenji-fu, kashioka}@is.naist.jp

We focus on
Example-Based Machine Translation (EBMT). For a basic idea of EBMT, EBMT retrieves some examples that

are similar to an input sentence and adjust them to obtain the translation. For retrieving some examples, a

O In machine translation research, corpus-based translation has been a focus of attention.

thesaurus is commonly used. But most existing thesauri are usually built with monolingual knowledge and they
do not consider the conceptual differences between languages and they usually have a fixed conceptual system.
To use such thesaurus would reduce the translation accuracy by retrieving wrong examples and not retrieving
available examples. In this paper, to solve such problems, we propose a thesaurus that is built with a parallel
corpus to use bilingual knowledge, instead of a monolingual corpus. We show the building method and report

experimental results of EBMT by using an existing thesaurus and the proposed thesaurus in a comparison.
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OoO0oO,000 PROPOSEDOOOOOOOODOO
OO0,BASELIENOOOOOCOOOOOOOOOOO
oooooobooooobooooooo.
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ogoooobobooobooobbooobooooboooo.
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obooobO.00000b0o0, 0000000000
gboooobooooboobooooboobooon
gbooooboooobooboooobooooon
ooo0.0,00b00000ooooooooobooon
gobobooooog,c0obobooooooooooo
(D0ooOo)ooooooooo.
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